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7th Class - General Knowledge (kÕ<Ûës¡D $wüj·T |ü]C≤„q+)
1. uÛ≤s¡‘· <˚X¯+˝À Ád”Ô\ ø£̇ dü $yêVü≤ ej·TdüT‡ m+‘·? ( )

What is the minimum age of girls to marry in India?

(A) 21 dü+e‘·‡sê\T (B) 18 dü+e‘·‡sê\T
(A) 21 years (B) 18 years

(C) 15 dü+e‘·‡sê\T (D) 23 dü+e‘·‡sê\T
(C) 15 years (D) 23 years

2. eT<ÛäTs¡ MTHêøÏå <˚yê\j·T+ @ sêÁwüº+˝À ø£\<äT? ( )
In which state Mathura Meenakshi temple located?

(A) ‘·$TfīHê&ÉT (B) Ä+Á<ÛäÁ|ü<˚XŸ (C) >∑T»sê‘Y (D) nkÕ‡+
(A) Tamilanadu (B) Andhra Pradesh (C) Gujarath (D) Assam

3. eTq bÕs¡¢yÓT+{Ÿ ìjÓ÷»ø£es¡Z+ ù|s¡T @$T{Ï? ( )
What is our Parlament Constituency name?

(A) u≤|ü≥¢ (B) HÓ\÷¢s¡T (C) ˇ+>√\T (D) ø£+<äT≈£Ls¡T
(A) Bapatla (B) Nellore (C) Ongole (D) Kandukuru

4. MRP |üP]Ô ù|πs$T{Ï ? ( )
What is the full form of MRP ?

(A) ø£̇ dü $Áø£j·T <Ûäs¡ (B) >∑]wüº $Áø£j·T <Ûäs¡ C) e÷düºsY <Ûäs¡ (D) e÷¬sÿ{Ÿ <Ûäs¡
(A) Minimum Retail Price (B) Maximum Retail Price

C) Master Rate Price (D) Market Rate Price

5. uÛ≤s¡‘· eTVæ≤fi¯\ ÁøÏ¬ø{Ÿ »≥Tº ¬øô|ºHé mes¡T?
Who is the captain of Indian Women cricket team? ( )
(A) ẙTØø√yéT (B) $T<∏ë© sêCŸ C) nqTwüÿ X¯s¡à (D) Á|æj·÷+ø£ #√ÁbÕ
(A) Marycom (B) Mithaliraj C) Anushka Sarma (D) Priyanka Chopra

6. 2016 qe+ãs¡T 8q s¡<äT› #˚dæq H√≥T¢ @$? ( )
Which notes are cancelled on 2016 November 8? ( )
(A) s¡÷.1000, s¡÷.500 (B) s¡÷.1000, s¡÷.100C) s¡÷.500,s¡÷.5000 (D) @Bø±<äT
(A) Rs.1000, Rs.500 (B) Rs.1000, Rs.100 C) Rs.500,Rs.5000 (D) None of these

7. n+&Ée÷Hé ìø√u≤sY Be⁄\ Á|ü<Ûëq πø+Á<ä+ @$T{Ï?
What is the Head Quarter of Andaman Nicobar Islands? ( )
(A) &ÜeTHé (B) b˛s¡Tºu…¢sTTsY (C) dæ\«kÕ‡ (D) ø£es¡{Ïº
(A) Daman (B) Portblair (C) Silvassa (D) Kavaratti

8. eTq <˚X¯ ‘=* Vü≤√+eTÁ‹ mes¡T?
Who is our first home minister? ( )
(A) HÓÁVüA (B) >±+BÛõ (C) n+uÒ<äÿsY (D) |üfÒ̋ Ÿ
(A) Nehru (B) Gandhiji (C) Ambedkar (D) Patel

9. Ä<ÛësY ø±s¡T¶̋ À eTTÁ~‘·yÓTÆ e⁄+&˚ á ÁøÏ+~ ìHê<ëìï |üP]+#·+&ç? Hê Ä<ÛësY .............. ( )
Fill in the slogan, which has printed on Adhar Card. My adhar..............?

(A) Hê dü+K´ (B) Hê <˚X¯+ (C) Hê uÛÑÁ<ä‘· (D) Hê >∑T]Ô+|ü⁄
(A) My number (B) My country (C) My security (D) My significance
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10. $y˚ø±q+<äTì ndü\T ù|πs$T{Ï? ( )
What is the original name of Vivekananda?

(A) sêeTø£èwüí (B) |üs¡eTVü≤+dü (C) qπs+Á<äHê<∏é <ä‘·Ô    (D) k˛eTHê<∏é
(A) Ramakrishna (B) Paramahamsa (C) Narendranath datta (D) Somanath

11. <˚X¯eTTqT Áù|$T+#·TeTHêï— eT+∫ nqï~ ô|+#·TeTHêï π>j·T s¡#·sTT‘· mes¡T? ( )
Who wrote the song “Desamunu Preminchumanna Manchi annadi Penchumanna”

(A) $πsX̄*+>∑+ (B) >∑Ts¡C≤&É nbÕŒsêe⁄ (C) Çø±“ Ÿ̋ (D) ãøÏ+#·+Á<ä #·≥Ø®
(A) Veereshalingam (B) Gurajada Apparao

(C) Ikbal (D) Bakimchandra Chatarjee

12. ÁøÏ+~ yêì˝À kÕe÷õø£ e÷<Ûä́ eT+ ø±ì~ @~? ( )
Which of the following is not a social media?

(A) {Ï«≥ºsY (B) yê{≤‡|t (C) MT ùde (D) ù|òdt ãTø˘
(A) Twitter (B) Whatsapp (C) Mee seva (D) Face book

13. eTq <˚X¯ ø£¬s˙‡ nsTTq s¡÷bÕsTT ∫Vü≤ï+ @~? ( )
What is the symbol of our currency rupee?

(A) (B) $ (C) (D)  L

14. #·+Á<ä Á>∑Vü≤D+ á düeTj·T+˝À e÷Á‘·y˚T @s¡Œ&ÉT‘·T+~? ( )
A Lunar eclipse occurs on which day?

(A) |üP]íeT sêÁ‹ (B) #·+Á<äT&ÉT e⁄qï sêÁ‹
(A) The night of a full moon (B) The night of a moon

(C) @<Ó’Hê s√E (D) @<Ó’Hê eT<Ûë´Vü≤ï+
(C) Any day (D) Any afternoon

15. eTq C≤rj·T |üøÏå @~? ( )
What is our national bird?

(A) ø±øÏ (B) bÕe⁄s¡eTT (C) HÓeT* (D) ø√&ç
(A) Crow (B) Dove (C) Peacock (D) Hen

y˚T<Ûë dü+ã+~Û‘· Á|üX¯ï\T ` (I.Q.)

16.                   á ∫Á‘·+˝À Ç$T&çe⁄qï Á‹uÛÑTC≤\ dü+K´ ? ( )

How many triangles are in the given pictures?

(A) 18 (B) 12 (C) 13 (D) 15
17. y˚s¡T>± e⁄qï <ëìì >∑T]Ô+#·+&ç ? ( )

Find out the odd one?

(A) q~ (B) ø=\qT (C) u≤$ (D) #Ós¡Te⁄
(A) River (B) Pond (C) Well (D) Tank

18. 1+3+5+7+9+11+13+15+17= ?

(A) 92 (B) 82 (C) 72 (D) 62

19. 3,9,4,16,5,25,   ? , 36 ?

(A) 7 (B) 8 (C) 9 (D) 6
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20.          á düeTdǘ  ∫Á‘·+ <ë– e⁄qï ∫Á‘·+qT >∑T]Ô+#·+&ç. ( )
          Find the picture, which includes given problem picture ?

(A) (B) (C) (D)

21. _ÛqïyÓTÆq~ >∑T]Ô+#·+&ç. ( )
Find out the odd one?

(A) (B) (C) (D)

22. ÁøÏ+~ |ü<ë\qT ns¡∆e+‘·yÓTÆq Áø£eT+˝À neTs¡Ã+&ç. ( )
Arrange these words in a meaningful order ?

(A) ô|<äe⁄\T (B)  ø£fi¯ófl (C)  eTT≈£îÿ (D)  #Óe⁄\T  E)qT<äTs¡T
     Lips        Eyes        Nose        Ears  Forehead

(A)  ABCDE (B)  EDCBA (C)  EBDCA (D)  ACDBE

23. ˇø£ es¡Tdü̋ À ̌ ø£ #Ó≥Tº m&ÉeT qT+&ç, ≈£î&ç qT+&ç ≈£L&Ü 8e kÕ∆q+ nsTT‘˚, Ä es¡Tdü̋ Àì yÓTT‘·Ô+ #Ó≥T¢ mìï?
In a row, a tree is in 8th place, from both left and right sides. So find out the total number

of trees in the row? ( )
(A)  16 (B)  9 (C)  20 (D)  15

24.           ? ( )

(A) (B) (C) (D)

25. SISTER qT RETSIS  >± sêdæqf¢sTT‘˚ COUSIN qT m˝≤ sêj·T>∑\+? ( )
In a code language SISTER can be written as RETSIS, then how can we write COUSIN?

(A)  NISCOU (B)  SINCOU (C)  NISUOC (D)  SINUOC

DD

A

26

22

E

I

18

12

0

U

6

Q

17

6

U

17

Q

>∑DÏ‘·+ - MATHEMATICS (30 Marks)

26. ãTTD |üPs¡í dü+K´˝À ô|<ä›~ @~? ( )
The biggest negative integer is ?

(A) - 1000 (B) - 9 (C) - 1 (D)  Not defined

(A) - 1000 (B) - 9 (C) - 1 (D)  #Ó|üŒ Ò̋eTT
27. ˇø£ Á‹uÛÑT»+˝Àì ø√D≤\ ìwüŒ‹Ô 2:3:4 nsTTq yê{Ï̋ À ô|<ä› ø√D+ @~? ( )

In a triangle the angles are in the ratio 2 : 3 : 4, then the biggest angle is ?

(A) 800 (B) 600 (C) 400 (D)  1800

28. á ÁøÏ+~ yê{Ï̋ À Á‹uÛÑTC≤\ düs¡«düe÷q‘·«eTTq≈£î e]Ô+#·ì ìj·TeT+ @~? ( )
Which of the following is not a rule of congruence of traingles ?

(A) \+.ø£.uÛÑT. (B)  ø√.ø√.ø√. (C)  uÛÑT.uÛÑT.uÛÑT. (D)  uÛÑT.ø√.uÛÑT
(A) R.H.S. (B) A.A.A. (C) S.S.S. (D)  S.A.S.
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29. á ÁøÏ+~ yê{Ï̋ À dü‘·́ + ø±ì~ @~? ( )
Which of the following is not a true statement ?

(A) 0 ™ 5 = 0 (B) 18 ™  0  = 18 (C) -30 ™  -5 = 6 (D)  5 ™  1  = 5

30. ˇø£ dü+K´qT 5 ¬s≥T¢ #˚dæ 20 rdæy˚dæq 85 e#·TÃqT. nsTTq Ä dü+K´ m+‘· ? ( )
20 is subtracted from 5 times of a number, to get 85. Then the number is ?

(A) 13 (B) 25 (C)  21 (D)  17

31. 32, 45, 27, 48, 41, 35, 52 <ä‘êÔ+X¯ yê´|æÔ m+‘·? ( )
32, 45, 27, 48, 41, 35, 52 What is the range of the data ?

(A) 52 (B) 27 (C)  79 (D)  25

32. ;Jj·T düe÷kÕ\qT ñ|üjÓ÷–+∫q yÓTT≥ºyÓTT<ä{Ï uÛ≤s¡rj·T >∑DÏ‘· XÊÁdüÔy˚‘·Ô mes¡T? ( )
The first Indian mathematician, who used algebroic expressions ?

(A) Äs¡́ uÛÑ≥º (B)  lìyêdü sêe÷qT»Hé
(C) ÁãVü≤à >∑T|üÔ (D)  |æ+>∑fi¯ó&ÉT
(A) Aryabatta (B) Srinivasa Ramanujan

(C)  Bramhaguptha (D)  Pingala

33. a, b \T <Ûäq |üPs¡í dü+K´ …̋’q á ÁøÏ+~ yê{Ï̋ À Á‹uÛÑT» ø=\‘·\T @$? ( )
a, b are positive integers then which of the following are the measurements of a triangle?

(A) a, b. a + b (B) a, b, a - b (C)  a, a, a, (D)  a - b, a + b, 2 a

34. ˇø£ J|ü⁄ 84 øÏ.MT. <ä÷s¡+ Á|üj·÷DÏ+#·T≥≈£î 3.5 >∑+≥\T |ü≥TºqT. nsTTq Ä J|ü⁄ ̌ ø£ >∑+≥˝À Á|üj·÷DÏ+#·T
<ä÷s¡+ m+‘·? ( )
A jeep takes 3.5 hours to travel 84 k.ms. then the distance travelled by the jeep in one

hour is ?

(A) 28 kms (B) 24 kms (C)  32 kms (D)  48 kms

35. x = y eT]j·TT ax = ay nsTTq  a =  ? ( )
If x = y and ax = ay then a =  ?

(A) 0 (B) 1 (C)  x (D)  y

36. 4         ™ 1         =   ? ( )

(A) 4 (B) 15 (C)  3 (D)  3

37. ˇø£ dü+K´˝À 60XÊ‘·+ 1800 nsTTq Ä dü+K´ ? ( )
If 60% of a numbers is 1800, then find the number ?

(A) 2000 (B) 4000 (C)  1010 (D)  3000

38. ` 5 eT]j·TT 5 eT<Ûä́ >∑\ |üPs¡í dü+K´\ \ã∆+ m+‘· ? ( )
What is the product of the integers which are between - 5 and 5 ?

(A) 576 (B) 0 (C)  24 (D)  20

39.           = 1, nsTTq 3x - 2y = ? ( )

If            = 1, then 3x - 2y = ?

(A) 1 (B) 5 (C)  0 (D)  6

1

5

2

5
1

5

15 x

10 y

15 x

10 y
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40. ˇø£ Á‹uÛÑT»+˝À os¡̧+ qT+&ç <ëì m<äT{Ï uÛÑTC≤ìøÏ ̂ j·Tã&çq ̋ +u+qT @eT+{≤s¡T? ( )
The perpendicular line drawn from a vertex of a triangle to its opposite side is called as

........... ?

(A) \+ã düeT~« K+&Éq πsK (B)  ø√D düeT~« K+&Éq πsK
(C) eT<ä́ >∑‘· πsK (D)  m‘·TÔ
(A) Perpendicular bisector (B) Angle bisector

(C) Median (D)  Height

41. ˇø£ Áø£eT uVüQ uÛÑTõ #·T≥Tºø=\‘· 387 ôd+.MT. eT]j·TT <ëì uÛÑT»+ 21.5 ôd+.MT. nsTTq ãVüQ uÛÑTõ
uÛÑTC≤\ dü+K´ m+‘·? ( )
Perimeter of a regular polygon is 387 cm and it side is 21.5 cm then the numbers of

sides of the polygon?

(A) 24 (B) 18 (C)  16 (D)  20

42. mìï dü+e‘·‡sê\˝À 20% e&û¶ πs≥Tq ndü\T eT÷&ç+‘·\T n>∑TqT? ( )
In how many years, the principle amount becomes triple at the rate of 20% P.A. ?

(A) 18 (B) 25 (C)  10 (D)  30

43. 2 jÓTTø£ÿ dü+ø£\q $˝ÀeT+ eT]j·TT >∑TDø±s¡ $˝Àe÷\ yÓTT‘·Ô+? ( )
What is the sum of additive inverse of 2 and multiplicative inverse of 2 ?

(A) (B)  0 (C) (D)  − 2

44. ˇø£ Á‹uÛÑT»+ jÓTTø£ÿ u≤Vü≤´ø√D+ 1400 <ëì n+‘·sê_ÛeTTK ø√D≤\ ìwüŒ‹Ô 3:4 nsTTq yê{Ï̋ À ô|<ä› ø√D+
m+‘·? ( )
In a traingle an exterior angle is 1400 and it’s opposite interior angles are in the ratio

3:4, then the biggest angle is .............

(A) 400 (B) 1000 (C)  600 (D)  800

45. 18 dü+e‘·‡sê\ ÁøÏ‘·+ sêDÏ ej·TdüT‡ Á|üdüTÔ‘· ej·TdüT‡˝À 3e e+‘·T nsTTq sêDÏ Á|üdüTÔ‘· ej·TdüT‡ m+‘·?
18 years ago, Rani age is one - third of her present age. Then what is Rani’s present

age? ( )
(A) 9 years (B) 21 years (C)  27 years (D)  30 years

46. 42.567 ˝À 6 jÓTTø£ÿ kÕ∆q $\Te ?
What is the place value of 6 in 42.567  ?

(A) 6 (B) (C) (D)  60

47. eT÷&ÉT es¡Tdü |üPsêí+ø±\ yÓTT‘·Ô+ 57 nsTTq yê{Ï̋ À ô|<ä› dü+U´? ( )
Sum of the three consecutive integers is 57 then find the biggest integer?

(A) 18 (B) 25 (C)  20 (D)  35

48. <äXÊ+X¯ _ÛHêï\qT Á|üy˚X¯ô|{Ïºq >∑DÏ‘· XÊÁdüÔy˚‘·Ô mes¡T ? ( )
Who is introduced decimal fractions ?

(A) C≤Hé H˚ |æj·TsY (B) Äs¡́ uÛÑ≥º (C) eTVü≤\H=_dt (D)  sêe÷qT»Hé
(A) John Nepear (B) Aryabatta (C)  Mahala nobis (D)  Ramanujan

49. P Q R= +  nsTTq rPQR ˇø£ ................... Á‹uÛÑ»+. ( )

If   

P Q R= +

 then rPQR is .................... traingle.

(A) düeTu≤VüQ (B) \+ãø√D+ (C) n~Ûø£ ø√D (D)  n\Œø√D
(A) Equilator (B) Right angle (C) Obtuse Angled (D)  Ocute Angled

- 3

2

1

2

6

100

6

10
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50. ¬s+&ÉT dü+|üPs¡ø£ ø√D≤\ ìwüŒ‹Ô 7:3 nsTTq yê{Ï̋ À ∫qï ø√D+? ( )
Supplementery angles are in the ratio 7:3, then find the smaller angle?

(A) 540 (B) 180 (C) 1080 (D)  270

51. x <Ûäqdü+K´ nsTTq x, 4x, 5x\ eT<Ûä́ >∑‘·+ 60 nsTTq yê{Ï dü>∑≥T m+‘·? ( )
If x is a positive number and the median of  x, 4x, 5x is 60, then the average of them is

...............

(A) 15 (B) 50 (C) 90 (D)  18

52. ˇø£ ‘·s¡>∑‹˝Àì $<ë´s¡T∆\ dü+K´ 72. u≤\Ts¡ ø£+fÒ u≤*ø£\T 10 ‘·≈£îÿe nsTTq u≤*ø£\T m+‘·? (   )
In a class of 72 students, If the number of girls 10 less than the number of boys. Then

the number of girls is ..............................

(A) 41 (B) 62 (C) 31 (D)  51

53. 3x2 + 4x3 y2 + 5x4 + 20 jÓTTø£ÿ |ü]e÷D+ m+‘·? ( )

What is the degree of 3x2 + 4x3 y2 + 5x4 + 20 ?

(A) 2 (B) 11 (C) 20 (D)  5

54. 18 edüTÔe⁄\T ø=qï yÓ\, 24 edüTÔe⁄\T n$TàqyÓ\≈£î düe÷q+, nsTTq qwüºXÊ‘·+ m+‘·? ( )

Cost price of 18 articles is equal to selling price of 24 articles. Then find the loss

percentage?

(A) 25% (B) 15% (C) 20% (D)  33%

55. 15, 20, 30,  45, 15, 30, 15 uVüQfi¯ø£+ m+‘·? ( )

15, 20, 30, 45, 15, 30, 15 Mode of the data is ...............

(A) 20 (B) 45 (C) 15 (D)  30

ENGLISH (10 Marks)

56. Find the correct article for the given sentence. Nagarjuna can play................ piano

very well. ( )

(A) a (B) an (C) the (D)  no article

57. Change the given sentence into comparitive degree “Telugu is one of the most beautiful

languages” ( )

(A) Telugu is more beautiful than most other languages.

(B) Very few languages are as beautiful as telugu.

(C) Telugu is the most beautiful language.

(D)  Telugu is the more beautiful language.

58. Change the given sentence into superlative degree “No other exercise is as healthy as

swimming” ( )

(A) Swimming is the healthiest of all excercises.

(B) Swimming is healthier than any other excercises.

(C) Swimming is healthy than any other excercise.

(D)  Swimming is healthiest of all exercise.

59. Choose the alternative which best express the meaning of the given idiom. ( )

Today was a red letter day in our history

(A) A colourful day (B) fatal day (C) an important day (D) Hapless day

60. Which of the following compound noun is wrong. ( )

(A) Hand Kerchief (B) Christmas tree (C) Take away (D) Well-being
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61. Identity the correct spelt word ? ( )

(A) Archeaologist (B) Archaeologist (C) Archealogest (D) Archaeologest

62. The moon is Visible in the night. ( )

To get the opposite for the word visible, we use the prefix. ..........

(A) ill (B) un (C) in (D) dis

63. Identify the adverb in the following statement. ( )

“Suresh walked quickly towards the door”

(A) Walked (B) Towards (C) the door (D) quickly

64. Fill in the blanks with suitable prepositions. ( )

They were married ........... 1st June 1995 and dead - may.

(A) at, in (B) In, on (C) On, in (D) In, at

65. Choose the right answer from the choices given. “May I ask a question please?” ( )

(A) Giving permission (B) Taking permission

(C) Expressing Possibility (D) Giving offer

EVS - 10 Marks

66. |æ+&ç |ü<ësê∆\qT >∑T]Ô+#·&ÜìøÏ yê&˚ s¡kÕj·Tq+ @~? ( )

Identification of corbohydrates is carried by which solution?

(A) øå±s¡+ (B) njÓ÷&çHé (C) Hcl (D) $T<∏ä*Hé ã÷¢
(A) Base (B) Iodine (C) Hcl (D) Mithylin Blue

67. Ä|æ̋ Ÿ‡˝À e⁄+&˚ ÄeT¢+ @~? ( )

The acid present in the apples?

(A) dæÁ{Ïø˘ j·÷dæ&é (B) ˝≤øÏºø˘ ÄeT¢+ (C) e÷*ø˘ ÄeT¢+ (D) dæº]ø˘ ÄeT¢+
(A) Citric Acid (B) Lactic Acid (C) Maleic Acid (D) Steric Acid

68. SI |ü<ä›‹˝À y˚>±ìøÏ Á|üe÷D+ @~? ( )

Units for velocity in SI Method ?

(A) ôdMT / ôd (B) øÏ.MT. / ôd (C) øÏ.MT. / >∑+. (D) MT / ôd
(A) Cm / s (B) Km / s (C) Km / h (D) M / s

69. e÷qe⁄ì kÕ<Ûës¡D ñc į́Á>∑‘· m+‘·? ( )

Normal body temperature of human is .......... ?

(A) 98.40F (B) 98.60F (C) 370 F (D) @Bø±<äT
(A) 98.40F (B) 98.60F (C) 370 F (D) None of these

70. MCB nq>±? ( )

MCB Means?

(A) $TìeTyéT düs¡÷ÿ´{Ÿ ÁuÒø£sY (B) $Tìj̊T#·sY düs¡÷ÿ´{Ÿ ÁuÒø£sY
(C) e÷´–®eTyéT düs¡÷ÿ´{Ÿ ÁuÒø£sY (D) ô|’e˙ï
(A) Minimum circuit breaker (B) Miniature circuit breaker

(C) Maximum circuit breaker (D) All the above
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71. |üsêes¡Ôq dü÷Á‘·+ 

i r=

  ... Ç+<äT˝À  

i

 nq>±? ( )

Reflection principle  

i r=

 in it 

i

  means ?

(A) |ü‘·q ø√D+ (B) |üsêes¡Ôq ø√D+ (C) A & B (D) @B ø±<äT
(A) Incident Angle (B) Reflected Angle (C) A & B (D) None of these

72. ø£düTÿ≥ ˇø£ ............... ( )

Cascuta is a .................

(A) dü«j·T+ b˛wüø£+ (B) |üsêqï J$ (C) |üP‹ø±Vü‰s¡+ (D) düVü≤Jeqø±]
(A) Autotroph (B) Paracite (C) Saprophyte (D) Symbiont

73. #˚|ü\˝À XÊ«düÁøÏj·T <˚ì <ë«sê »s¡T>∑T‘·T+~? ( )

Respiration takes places in fishes by ........................

(A) }|æ]‹‘·TÔ\T (B) #·s¡à+ (C) yÓTT|üŒ\T (D) #Óe⁄\T
(A) Lungs (B) Skin (C) Gills (D) Ears

74. á ÁøÏ+~ yê{Ï̋ À dü¬s’q yêø£́ +? ( )

Which statement is correct?

R : <√dü ndü+|üPs¡í |ü⁄cÕŒìï ø£*– e⁄+≥T+~ ̀  R : Cucuber having incomplete flower

S : <√dü @ø£*+>∑ |ü⁄cÕŒ\qT ø£*– e⁄+≥T+~` S : Cucuber have unisexual flower

(A) R e÷Á‘·y˚T dü¬s’q~ (B) R, S \T ¬s+&É÷ dü¬s’q$
(C) R, S \T ¬s+&É÷ ‘·|ü (D) S e÷Á‘·y˚T dü¬s’q~
(A) R is only correct (B) R, S both are correct

(C) R, S both are wrong (D) S is only correct

75. ù|\&É+ e\¢ $‘·ÔHê\ yê´|æÔ ÁøÏ+~ @ yÓTTø£ÿ\˝À »s¡T>∑T‘·T+~? ( )

In which of the following seeds are disperced by bursting?

(A) u…+&É, Äe, ãsƒêì (B) <√dü, ø±ø£s¡, Äe
(C) >∑TeTà&ç, kıs¡, e+ø±j·T (D) y˚|ü, e÷$T&ç, ø=ã“]
(A) Ladies finger,            , Pea (B) Cucumber, bitter guard,......

(C) Pumpkin, bottle gourd, brinjal (D) Neem, Mango, coconut

SOCIAL - 10 Marks

76. düe÷qyÓTÆq m‘·TÔ ø£*–q ÁbÕ+‘ê\qT ø£\T|ü⁄‘·÷ ̂ ∫q πsK\qT @eT+{≤s¡T? ( )

The lines drawn by connecting the equal highest areas or places are called as ..........

(A) düeT ñwüí πsK\T (B) ◊k˛u≤sY\T (C) ø±+≥÷sY πsK\T (D) ◊k˛eTsY\T
(A) Thermal lines (B) Isobars (C) Contour lines (D) Isomers

77. eTq sêÁwüº+˝À uÛÑj·T+ø£s¡yÓTÆq ‘·TbòÕqT dü+uÛÑ$+∫q dü+e‘·‡s¡+ @~? ( )

The worst cyclone happend in our state, the year?

(A) 1977 (B) 1978 (C) 1979 (D) 1980
78. uÛ≤eqbÕ&ÉT Á>±eT Á|ü»\T »s¡T|ü⁄≈£îH˚ Á|ü<ÛëqyÓTÆq |ü+&ÉT>∑? ( )

Most important festival celebrated by the people of Bhavanapadu is .........?

(A) \øÏåà |üP]íeT (B) ø±ØÔø£ |üP]íeT (C) >ö] |üP]íeT (D) •e |üP]íeT
(A) Lakshmi Poornima (B) Kartika Poornima

(C) Gowri Poornima (D) Siva Poornima
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79. nø£“sY Hêe÷ nqT |ü⁄düÔø±ìï Áyêdæ+<Óes¡T? ( )

Who wrote the book “Akbar Nama”?

(A) nãT˝Ÿ ÇÁe÷Hé (B) nãT Ÿ̋ |òüø°sY (C) nãT˝Ÿ |òü»˝Ÿ (D) nãT˝Ÿ Vü≤düHé
(A) Abul Imran (B) Abul Fakeer (C) Abul Fazal (D) Abul Hasan

80. ÄÁ|òæø±˝À n‘·́ +‘· m‘Ó’Ôq |üs¡«‘· •Ks¡+ øÏ*eT+C≤s√ mø£ÿ&É e⁄+~? ( )

The highest Peak in Africa is Kilimanjaro was situated in?

(A) {≤+C≤ìj·÷ (B) dü÷&ÜHé (C) C…’Ø (D) HÓ’J]j·÷
(A) Tanjania (B) Sudan (C) Jairi (D) Nigeria

81. ÁbòÕHé‡˝À Á|üdæ~∆#Ó+~q |ü]ÁX¯eT? ( )

This industry is famous in France?

(A) #̊H̊‘· (B) #˚‹ eè‘·TÔ\T (C) #˚|ü\T (D) $e÷qj·÷q+

(A) Textiles (B) Handi Craft (C) Fishes (D) Aircraft

82. ãVæ≤s¡+>∑ Á|ü<˚XÊ\˝À bı>∑Á‘ê>∑&Üìï ìùw~Û+#˚ _\T¢ ÄyÓ÷<ä+ bı+~q dü+e‘·‡s¡+ @~? ( )

In which year the bill of ban on smoking in public areas was approved ?

(A) 2002 (B) 2001 (C) 2003 (D) 1999
83. u≤ãsY ÇÁãV”≤+ ˝À&ûì z&ç+∫q dü+e‘·‡s¡+ @~? ( )

When did Babar defeted Ibrahim Lodi ?

(A) 1526 (B) 1556 (C) 1761 (D) 1529
84. á ÁøÏ+~ yê]˝À ø£sêí≥ø£ #êfi¯ó≈£î´\≈£î kÕeT+‘·T\T>± |üì#˚dæqyês¡T? ( )

Which of the following were Samanthas to the Karnataka Chalukyas?

(A) #√fīó\T (B) sêÁwüº ≈£L≥T\T (C) ø±ø£rj·TT\T (D) $»j·Tq>∑s¡ sêE\T
(A) Cholas (B) Rastrakutas (C) Kakatiyas (D) Vijayanagara Kings

85. HÓ’J]j·÷ <˚XÊìøÏ #Ó+~q –]»q ‘Ó>∑ @~? ( )

Which tribe belongs to Nigeria?

(A) C≤dü (B) \+ã (C) >√+&ÉT (D) #√‘̊

(A) Jasa (B) Lamba (C) Gondu (D) Chothe

86. ÄeTTø£Ô e÷\´<ä qT s¡∫+∫q~ mes¡T? ( )

Who wrote Amuktha Malyada?

(A) kÕfi¯óe qs¡dæ+Vü≤sêj·TT\T (B) l ø£èwüí <˚esêj·TT\T
(C) n#·T´‘· sêj·TT\T (D) yÓ+ø£≥|ü‹ sêj·TT\T
(A) Saluva Narasimha Rayulu (B) Sri Krishna Devarayulu

(C) Achyutha Rayulu (D) Venkatapathi Rayulu

87. yÓTT|òüT\T\ ø±\+˝À yê&ÉTø£̋ À e⁄qï ¬s$q÷´ $<ÛëHêìï @eT+{≤s¡T? ( )

The revenue sytem followed during the Mughal period is called as .............

(A) eTTq‡uŸ (B) »$T+<ë] (C) »|tÔ (D) e÷sê«&é
(A) Munsab (B) Jamindari (C) Japt (D) Marvadi
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88. bòÕ¢d” j·TT<ä∆+ me¬se]øÏ eT<Ûä́  »]–+~? ( )

The battle of Plassey was fought between ..................

(A) Ä+π>¢j·TT\T ` dæsêE<Í›̋ ≤ (B) ôV’≤<äsê© ` {Ï|ü düT˝≤ÔHé
(C) sêãsYº ¬ø’¢yé  ` ùV≤dæº+>¥‡ (D) u…+{Ï+>¥ ̀  yÓ\¢d”¢
(A) Britishers - Sirajuddowla (B) Hyderali - Tippu Sulthan

(C) Rabert Clive - Haestings (D) Benting - Wellasley

89. uÛ≤s¡‘· <˚XÊìøÏ düeTTÁ<ä e÷s¡Z+ ø£qT>=qï yêk˛ÿ&Ü>±e÷ @ <˚XÊìøÏ #Ó+~qyê&ÉT? ( )

Vascodagama, who discovered sea route to India was a sailor from ...............

(A) j·T÷s¡|t (B) b˛s¡TÃÁ^düT (C) Ç≥© (D) »bÕHé
(A) Europe (B) Portuguese (C) Italy (D) Japan

90. z≥T y˚j·T&ÜìøÏ ø±e\dæq ø£̇ dü ns¡Ω‘· ej·TdüT m+‘·? ( )

What is the minimum age to get voting right?

(A) 17 dü+e‘·‡sê\T (B) 16 dü+e‘·‡sê\T (C) 20 dü+e‘·‡sê\T (D) 18 dü+e‘·‡sê\T
(A) 17 years (B) 16 years (C) 20 years (D) 18 years

TELUGU - 10 Marks

91. ªªnD«ÁdüÔ+µµ nqT |ü<ëìï $&ÉBj·T+&ç. ( )

(A) nDTe⁄ G nÁdüÔ+ (B) nDT G eÁdüÔ+ (C) nDT G nÁdüÔ+ (D) nD«eTT G nÁdüÔeTT
92. s¡#·sTT‘· ªªñwülµµ ndü\T ù|s¡T / |üP]Ô ù|s¡T @$T{Ï? ( )

(A) y˚<ë+‘·+ sêeT*+>∑ XÊÁdæÔ (B) sêj·TÁb˛\T düTu≤“sêe⁄

(C) eTTDÏe÷DÏø£́ + qs¡dæ+Vü‰sêe⁄ (D) |ü⁄sêD |ü+&É dü÷s¡́  Á|üø±X¯ BøÏå‘·T\T
93. Äq+<ä+ bÕsƒ¡+˝Àì |æ\¢\T ÄÁX¯eT+˝Àì eè<äT∆\ ø=s¡≈£î @+ #˚XÊs¡T? ( )

(A) {Ï.$. eT]j·TT bǫ̀ Hé ø=ì#êÃs¡T (B) eT+∫ $+<äT uÛÀ»q+ ô|{Ïº+#ês¡T

(C) Hê≥ø£ Á|ü<äs¡Ùq #˚dæ 800 s¡÷bÕj·T\T $sêfi≤\T ùdø£]+#ês¡T
(D) {°, {Ï|òæqT¢ n+<ä#̊XÊs¡T.

94. á ÁøÏ+~ yêì˝À ‘·|ü>± e⁄qï Á|üø£è‹ ` $ø£è‘·T\ »‘·qT >∑T]Ô+#·+&ç? ( )

(A) |ü⁄düÔ≈£eTT ̀  bı‘·ÔeTT (B) >ös¡e+ ̀  >±s¡e+
(C) uÛÑ÷$T ` uÛÑeeTT (D) ÁbÕD+ ` bÕq+

95. á ÁøÏ+~ yêì˝À >∑Ti¿+ C≤wüßyê _s¡T<äTqT >∑T]Ô+#·+&ç? ( )

(A) ø£$ø√øÏ\ (B) qej·TT>∑ ø£$ #·Áø£e]Ô
(C) ô|’ ¬s+&É÷ (D) @Bø±<äT

96. ªª≈£îÁs¡yê&ÉT Hê <ä>∑Zs¡ e⁄+fÒ yê&çø√ eTTø£ÿ edüTÔ+<äì, eT+∫ ãT~∆eT+‘·T&Í‘ê&Éì, yê&ç ñ<›̊X¯+.µµ

ì»+ ` ì»+ ! bÕsƒ¡+ Ä<Ûës¡+>±.... ô|’ yêø£́ +˝À yê&ç ñ<∆̊X¯+ nq>± me] ñ<∆̊X¯+?
(A) s¡+>∑j·T´ (B) oqT (C) s¡#·sTT‘· (D) s¡+>∑j·T´ yêfi¯fl Hêqï

97. ≈£L|” ˝≤>∑&É+ n+fÒ ?

(A) r>∑qT >∑{Ïº>± ˝≤>∑&É+ (B) Äsêrj·T&É+ (C) u…~]+#·&É+ (D) düeTdǘ qT |ü]wüÿ]+#·&É+



EE / MT/X / Inter Mandal Level/ 008/09-02-18
www.educationalepiphany.org

11

98. ªªÄ˝À#·q+µµ nH˚ bÕsƒ¡́  uÛ≤>∑+ @ ø£$‘ê dü+|ü⁄{Ï qT+&ç rdüTø=qã&ç+~ ?
(A) s¡TÁ<äMD (B) neTè‘ê_Ûùwø£+ (C) n–ï<Ûës¡ (D) Ä˝À#·Hê˝À#·q

99. ªªX¯ã∆ |ü\¢yê\Tµµ n+fÒ @$T{Ï?
(A) HêeT yê#·ø±ìøÏ ÁøÏj·T #˚]q |ü<ë\T (B) CÀ\ bÕ≥\T
(C) ø=ìï |ü<ë\T ø£*dæ ˇø£ $X‚wü ns¡∆+ Ç#˚Ã |ü<ä ã+<Ûë\T

(D) kÕyÓT‘·\T
100. ªªeT+&˚ m+&É ì|ü\ ø=*e÷! nqï≥T¢ ñ+~µµ á yêø£́ +˝Àì n\+ø±sêìï >∑T]Ô+#·+&ç?

(A) ñ|üe÷\+ø±s¡+ (B) ñÁ‘̊Œøå±\+ø±s¡+

(C) eè‘·́ qTÁbÕkÕ\+ø±s¡+ (D) n+‘ê´qT ÁbÕkÕ\+ø±s¡+


